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: INSTRUCTIONS :

All questions in the Test are inulﬂple choice questions.

Each question carrics one mark, with four altematlvw out of which one answer is
correct.

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval. -

Mark your response only at the appropriate space against the number corresponding to
the question while answering on the OMR Response Sheet.

Marking more than one response shall Be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled. ' ‘

Use of calculator, Mobile is strictly prohibited and use of these shall lead to
dlsquahﬁcatlon

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test.

The question paper will be both in Englisll & Punjabi. In case of any doubt, Enghsh
version will be taken as final.
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1. Nomenclature code governs the naming of animals.
-~ (@ ICZN () ICN

(c) ICNB (d ICTV
ufesTix YHT A1agt ® aHads & fsouras aae 7a
(a) ICZN (b) ICN
(¢) ICNB ‘(d) ICTV
2.  Sea Anemone has a symmetry.
{a) Bilateral (b) Spherical
(c) Pentamerous (d) Radial/Biradial
AHES MetHe & ___ #8399 . -
(a) <t ®) d

R ;
(c) Unfafimit ‘9 faafis Qenflen) (d)  nigafermt (Fhve/edosmm)

3.  Basic unit of eyes in the eyes of insects is

(a) Retina (b) Rhabdome
(¢) Comeal facets (d) Ommatidium
a3 it wiat feg nhy St st fearet 9 ¢
@ o ®) T
(c) SIBic IR @) SEEhe
4. Cray fish belongs to
(a) Pisces - (b) Arthropoda
(¢) Mollusca (d) Anthozoa
&3 Nt wr Adu D |
- (@) VSRR &% (b) »IEUT I
(c) VBRI 5B d) eI FTH
5.  Mammary glands are modified o
~ (a) Salivaryglands = (b) Lacrimal glands
(¢) Sweat glands - (d) Sebaceous glands
A3 I83 Juisfes 75 ,
2) FEERS IBF b) Bahs aBs
(© AeIBF (@) FarHoE a8
6. is a mammal which lays eggs. |
(a) Scaly anteater (b).- Spiny Anteater
(¢) Porcupine (d) Hedge Hog
Qo Avs 3 v i3 fioT 3
(a) Ao wéteey (b) RUEE wdeey
(c) UdagQudis @ o
7.  Heart of crocodiles is | :
(@) Three chambered (b) Four chambered
(¢) Two chambered _ (d) Five chambered
Haro e & fes O
(@ 3I-3FH - ®) 9T

() €vgd (d YA JT<r
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10.

11.

12.

13.

14.

Birds are able to recognize their home through
(a) visual cues - (b) sense of olfaction
(c) orientation of magnetic fields (d) All of the above

Ugt niuT e UgTEe 5
(a) foret onrar AaE &% () du/Aus & Bedt omor
(c) st 43T AT @ Buias A
Villi are seen in T.S. of -
(a) Stomach (b) Liver
(¢) Pancreas (d) Intestine
fedt ____ &t & nm. feu feurdt féwr 9
(a Ue ) b) feg
(c) US JE (d iz
Ecdysis is the shedding of :
(a) Homs (b) Stratum corneum
(c) Dermis . (d) Stratum germinativum
BfSar 9 :
(@) TIeE T . (b) FAcIH IgamM €t
(c) sIHA (@) FIeH FdSRH €
Phagocytic cells of liver are
(a) Kupfer’s cells (b) Dieter’s cells
(¢) Hensen’s cells (d) Aciner cells
frarg @ edites Hs 05
(a) IUSI T AS (b) IET T AB
(©) JoHs 2 HS () Aoliad #s
Oxyntic cells in stomach secrete o
(a) Pepsin - (b) Mucous
(cy HCI (d) Renin
gafiisfes A% Uz feg Radic &9 35 ¢ ,
(@) DA (b) fHBaA
(c) 9. " nret (@ B
The heart murmur is due to '
(a) Coronary thrombosis _ (b) Defective leaky valve
(c) Arterial valve (d) Tl developed atrium
fow & niew for aras 9 -
(a) dododt HOWEfAR (b) it s fes A
(c) MITTISG TB= (@) nicdmiH T He fean
In sickle cell anaemia, the disorder is caused due to the change in chemical nature of
(a) o chain of haemoglobin (b) P chain of haemoglobin '
¢) Neither of them - (d) . Both the chains
s)ﬁ»-ﬂwﬁqawsﬁaﬁa, fearg = a9 fare anfeca AgU feu TEser J96 U J
(a) IMWISfs & o w3t (b) ThiasfEs <t p st

(c) oyt & = ¢ @ = |
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15. Deamination is the process in which o
(a) Poisonous urea is removed from blood and it occurs in kldney EPENE
(b) Amino acids are absorbed from dlgested food and it occurs in mtestmal villi.
(¢) Amino acids are synthesized and it occur in liver.
(d) Amino acids are broken down to produce ammonia and it occurs in 11ver
mifrdt yfafenr 3, fam feg
(a) mﬁvﬂﬁﬁmmﬁwﬁmm@ﬁamwﬁ '
(b) T T2 wE fog vnits WS fiffnr Aer 3 n RisRdes fedt feg ufenr Aie 3 |
(c) "nitd ifis § fFarsty &3 aier 3 w3 frae feg urfour wer 3
(d Mmamwmwmwﬁﬁmﬁamwﬁ
16. Hearing is controlled by
(a) Frontal lobes (b) Temporal lobes
(c) Parietal lobes (d) Occipital lobes
A&E At § ﬁsm“aa a3 AT 9
(a) <Ics Baeng (b) 2UTs BF g
(c) Udlem Saomrar (@ riaries 3 gurgr
17. Which of the following disease results from endocrine disorder ?
(@) Goiter (b) Pneumonia
¢) Typhoid 5 (%) Jaundice
gazaagh faast fanrst Oer Jat
@ ¥3 3 | (b) Tedhmr
(@ fiordt gug d) S
18.. The following are ectodermal derivatives :
(a) liver , (b) red blood cells
(© nails _ - (d) intestinal lining
: WACIHS dtefes 75 - | |
(a) frag ) TSI HS
(o) g ' (d) TEa2rdtss sEfda
Loss of reproductive capacity in women after attaining a particular age is
(a) Menstruation : (b) Aging
1(;” Menarche {(d) Menopause '
feim @19 feu udoz 3 TmiE g3t feu yras RSt T U JE T o9a O :
(@) MHfAITIH (b) gEur o |
(¢ Hagoniteaa - (d) WA gaH T ge 3T
20. - Failure of testes to descend into scrotum is
(a) Vasectomy (b) Cryptorchidism
¢) Impotency %l) Tubectomy
T niAe®3T © FaldeH feg @3am 9
(@ W FradtuIfasam
(c) TEmueH (d) feQa it
21. Secondary sexual characters in females develop in response to hormone
, a; Relaxin ‘ gb} Progesterone
L S o
Ao Sg3t o feam @ 195 for g9Hs ar9s Tueer J:
(@ fodafis (b) YInfess
(c) "MHSIHG Cd) wEefEs
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22.

23.

25.

26.

27,

28.

The term cell was coined by

(a) Alfonso Corti (b) Robert Hooke
(¢) Robert Brown © (d) Dujardin
- Pi% mEe u nifenare St J
(a) vESHH AT B (b) 3IFCTF 3
T () JE9e E9853 (@) e;rrafe?;% ‘
The ability of a single cell to divide and produce all of the differentiated cells in an
organism is called
(a) Differentiation . (b) Totipotency
(¢) Meiosis (d) Division
AdR Haos feg ﬁaﬁaé%@zﬁwﬁae@m%hm@mﬂwaaﬁ%aﬁ
(a) nieaws/ferRdicaTs (b) A
() THBfim @ feEvs
Cellulose, the component of cell wall, is made up of which monomer units ?
(a) Xylose (b) Glucose :
(¢) Glucuronic acid d) Mannose
H® o O ued Ros, fan Hane feare"r Fafer 3 .
(@) wEH . (b)) TS
(c) I (d ﬂm
The net gain of how many ATP molecules are there in one cycle of glycolysis ?
(8) 4ATP , (b) 2ATP
() 1ATP (d) 16 ATP
TeeEfi @ fea Jaa feo fi3 ATP HEMfa@s e Rz R 05 7
(a) 4ATP (b) 2ATP
(c) 1ATP (d) 16 ATP
Zygotene stage is the part of which phase of cell cycle ?
(a) Prophase-] () Metaphase-I
(c) Interphase (d) Anaphase-I
s daq 2 fan uzmi o fiAr Feldidts Rev Q 7
(@ Y= ) Peew
() féeewm S (@) weed
- bond is present between amino acids.

(a) H (b) Peptide
{©)_ Ionic (d) None of the above
g Afist fem __ Wz ofas do |
(a) WE A3 ) MedsEm
(c) neBfsa a3 @ fegt RSt &
When Mandel crossed the pure tall & pure dwarf plant, the phenotypxc ratio comes to be
(a) 9 3 3:1 ® 1:2:1

() d 1:1:1:

ﬂm#uaﬁ%ﬁua@mawaawas*mwwﬁ

(@ 9:3:3:1 ‘ ® 1:2:1

cp 3:1 _ , @ 1:1:1:1
' e Paper-1I (Biology)



29.

3 0.

31.

32.

33.

The phase of the cell cycle in which the DNA synthesis occurs :

(a) M-Phase (b) Gap0 ' -
(c) Gapl . (d) S-Phase A
He 959 & i fn feg 31 als 2 fina eueer 3

(a) »u-3A _ b duvo

© &l (d) wAEH

In double helix model of DNA, the DNA is present in which form ?

(a) B-form (b) Z-form

(c) A-form (d) None of the above

St nis 2 ® €99 Afsan ves fog, St s e far U fem ofe dor 9

(@) = gufes ®) MyfE

c) 2qufem (d) fegt feu ast &at |

Species in which both male & female gametes are produced by one individual are
(a) Monoecious (b) Dioecious

{(¢) Both(a) & (b) (d) Neither (a) nor (b)

fea fenast Ty @3s faost yrst 3 fam feu ©°° yon 3 fersdt idm J° o5 .
(a) HEHMA (b) STECHMA

() & (d) €I E TS &I

When the cross is made between offspring & its parent, it is called as

(a) Back cross - (b) Intergeneric cross

(¢) Interspecific cross - (d) All of the above

e migre 3 fere G3uea feg seA euser I 3T fer & faor e 9

(a ¥ IIH (b) fEeandfex 9w

(c) fEcaRlAifex TTm (d) Budas Ay

The phenotype of an organism is influenced by

(a) Genotype (b) Environment

() Both (a& (b) (d) None of the above

o Hass o eety far 3 ygfes Jer 3 :

(a) H&EY (b) T3

) @3Ip)e I (d) fogt fed et &t |

Gaseous mixture used by Mlller for synthesxs of amino acids through heat and electric

- discharge included

(a) Methane, ammoma, hydrogen and water vapours.
(b) Methane, ammonia, nitrogen and water vapours.
(¢) Methane, nitrogen, hydrogen and water vapours.
d) Ammonia, carbon dioxide, nitrogen and water vapours.

ﬁﬁs%ﬁﬁaaﬁw%ﬁm&émmﬁm%ﬁ%aﬁﬁmﬁzfﬁmaﬁ

(a) M85, nidnT, TEsIHs 3 UEt @ TRY
(b) HEs, miHdr, TEETS 3 uE @ TRy
() WiEs, mpiat, TEEES 3 US @ TRy

{d) mﬁﬁmmmm»@uﬁ%m
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35.

36.

37.

38.

39.

40.

41.

Evolutionary changes in one species prompt corresponding éhanges in other species with
which the former interacts ecologically. This process is known as

(a) Coevolution (b) Complementation
% Parallel evolution (d) Microevolution
yrrdt feg fearmndt aesm, oot yrrsng few gemmr 3 Ufes s9er 3 fiR &%

ufger ufgnresaa 491 & Hiu fuer 3 | fer yfxfanr § faor wier 30

.

(8 FH A . @) rofex feam A.,.‘
(c) mHgufeam (@ i feam
An example of convergent evolution is ,
(a) Marsupial mole and placental moles (b) The flippers in penguins and dolphins
c) The wings in birds and insects (d) All of the above
: é—ﬁmﬂ it fearr &t GergeE 3 ¢ |
(a) WM e w3 uBhes He (b)) Dafes w3 Sufes @ efeus
(c) Uit w3 citfanit @ dg ) Suda=z Ag &
The cranial capacity of which one of the following prehistoric humans was almost same as
that of the modern man ? :
(a) Neanderthal man (b) ' Peking man
(¢) Javaapeman . (d) Australo pithecus man
mmﬁwﬁ#mﬁmmﬁwwﬁﬁnﬁum%ﬁ% ?
(a) fo23aEs HAY (b) e Ay |
(©) T EUHRH' (d) mAcTHUfaaH HAY
The shape of beaks of Darwin’s finches, industrial malanism are examples of
(a) Artificial selection (b) Natural selection
(c) Convergent evolution N (d%‘g Homologous structure
sofes &t < g5 © nrad, GenifoR He AfenR/amus @eradst 7s:
(@) I-geadt 9T b) FEgdtse
(c) Aeandt feam (d) A AT
Stabilizing selection favours ,
(a) Both extreme forms of a trait (b) Intermediate forms of a trait
{c Ij,nvironmental differences (d) One extreme form of a trait
9% Rofer Faet 3 ¢
(a) JeTTERTYESIU | (b)) =T T M3ITST Y
(¢) TI=as fEa= (@ S e yEsgu
What is associated with Neurosis ? '
(@ ltisrelatively mild mental illness. (b) Neither delusions nor hallucinations
c) Both(a) & (b) (d) Neither (a) nor (b)

%S‘@HHH. &% HEfs & 3 7 -
() ud 39 '3 oedl Wl st (b) & dzHers & dt f3fEens
© @30 @ (7 @)=
Night-blindness is caused by :
(a) Genetic disturbance - (b) Excessive drinking
() Excessive secretion of adrenals  (d) = Vitamin A deficiency
MOaTs & X9 J
(a) rivera fewes/feaa (b) wifsmifoa AoEdH

(0) nidies e 39 faAmi @) feefiseduwe
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42.

43.

45.

46.

47.

48.

Mental retardation in chlldren suffering from galactosemxa can be avoided by _

. (a) Giving them milk free diet. -

(b) Giving them more milk.
(c) Giving them milk fortified with vitamins.
(d) Giving them high protein diet.

mzﬁtﬁwazﬂasaﬁwﬁanmﬁqafearaﬁéﬁwwmﬁ
(a) Gatg TusfBugwe R .

) 83 fmregnda

(c) 85" % feetis Afisz g 2F gnirar

(@) €& 3 it Y&s oot yoa °F emirar

Vitamin containing biochemiéally rare element cobalt is

(a) Vitamin A (b) Vitamin B, () Vitamin B, (d) VitaminB,,
Aie-grrfEea-dug '3 niAmreE 33 Joee Jus o feerfis 3 '

(@ fefisA @ fefis B, (¢ feefis B, (@ feofis B,

A dental disease characterized by mottling of teeth due to in drinking water :

- (a) Boron (b) Flourine () Chlorine (d) Mercury

T B eI oI g AR e M T AIs @Lﬁzelﬁu@f‘eaaﬁaaa‘r%:
(a) T35 (b) HIF ©. IBdts (d HIS
The causal organism of kalaazar is '

(a) Plasmodium (b) Leishmania © Trypanosoma (d) Wuchereria
WS & TG T AIE J :

(@) USRHSMH (b)) ShmERdhr () TEUESRH () WIdr
Severe acute respiratory syndrome is caused by

(a) Corona virus (b) Adeno virus

(c) Both (a) and (b) ‘ (d) None of these

ArJ-HEdt Aoene @ Stae 3T TIIEY

(2) o3& femg (b)) WS e |

() (a)m3 (b)) (@) feogt i at &t

Varicella zoster virus causes

(a) Small-pox (b) Chicken-pox

(c) Mumps (d)  Hemorrhagic fever
AAcT R T ez 3 : :

(@) oo ) Ew

(¢) A5 Ia _ () BRI B

Mncro-orgamsms which grow best in low pH conditions are called

(a) Alkaliphiles (b) Neutrophiles

(c) Acidophiles (d) None of these

mmaﬁnmﬁnﬁﬁtﬁa%ﬁm#uﬁ% Sfagraed:

(a) nPETSTETA ) ﬁs@zaarémr .

(c) risedt=a @ @g-ff‘-;.-g-aérzsér

ll’aper-ll (Biology) B




49.

50.

51.

52.

53.

Plague is caused by

(@) Yersinia pestis _ - (b)
(c) Herpes virus (d)
UBd T AT J ¢ | ;

(a) GaHEHT UAfeR (b)
(c) J9ur famrg (@)
Which organism causes Cysticercosis 7

(a)  Echinococcus (b)
(c) Taenia solium (d)
fxadt Figus’ a9 Cysticercosis ST 9
(a) HcAH ()
(©) 3EEhr AEmN (@)
RFLP analysis is a technique that

Paramyxo virus
Rhino virus
I8 femrg

Rickettsia provazaki
Enterobius vermicularis

WA Idtasfan

{a) uses hybridization to detect specific DNA restriction fragments in genomic DNA.

(b) isus

to determine wheather a gene is transcribed in specific cells.

(c) measures the transfer frequency of genes during conjugation.
(d) is used to detect genetic variation at protein level.

RFLP ferdrs fod a8l d |

@ TEfE 3 fedt garar f2E DNA ydu § 852 7 Genomic DNA fedt few

53 3 Arer Y

by w0 e EreE o o § e e X ot el R e ozt aEtE 3

gar 9 |

© fRfangu AHGTS e /s @ guisde &t HigT o UST &g &t
) Ut Tua '3 Nefew fefdasr o uzr-sarQE ot ferdns Sgar

The tertiary structure of protein is detected by

(a) X-ray diffraction (b) Spectrophotomctfy
(¢) Electrophoresis . (d) - Chromatography
Yts <t 3-AI96 & fom o rgr ygrfen e 3 1

(a) m-:a- feedars (b) AUIZEHet

(©) Tedaeesm | @ et
Electrocardiogram (ECG) :

(@) Measures electrical activity generated by brain
(b) Recording of the hormonal activity of the heart over time
(¢) Recording of the electrical activity of the heart over time

(d) None of the above
oAt

(2) o oo G3ufes fameet fafonries: § i
(b) =itw A fou fom S oanaw fafonmfesr § foaras a9a
© eﬂanﬁﬁamaﬁmmvjmm

@ feom feg agt =t
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Which of the following is not correct about freeze-fracture technique ? '
(a) It involves physical breaking of frozen biological samples o
(b) Fixation in glutaraldehyde :

(¢) Involves vacuum sublimation of ice

(d) Cryoprotection with glycerol

SIT-TIo99 Il A ot §fes & 2

(@ A A2 Afed spfontt v 33 ug '3 Te for fog Afs D

() Glutaraldehyde & fagufas 9w feg

(c) =32 & Ha@H rESdinEs fon fov wiis 3

(d) fSHI® &5 sTfelydans

Diapause can occur at

gag IL\Iantfl sta§e ) | .8) gunpal stage  devel
c either (a) nor ). y stage of development -
. 3riEdw f&E Tueer 3 : -
(@) wifafRs/&9e U9 '3 (b) fuumiug '3
() (a)n3 (b) T &t ' (d feaRefaRFyae '3
$6. Light energy with wavelengths between 400-760 nm is '
: (a) Infrared light (b) Ultraviolet light
(¢) Visible light (d) None of above
400-760 nm ¥ IJa1-Baet few yarw Gamr I -
(a) FerEads yam (b) UI-TIEST faat o yam
(© YWHyaH @ fogt fes et ot
§7. Antagonism consists of following : _
(a) Competition (b) Predation
(c) Parasitism (d) All of above
feduar fes fager 33 ohim Gor 3 - |
(a) yIua=r (b) Guedt
(c) fig sar @) Buds A ¢
58. Parasitism and Predation both are interspecific relationships, but they differ from each other in
(a) The involvement of two different species
(b) The host is not directly killed in one of them
(c) One species is always benefited _ -
(d) One species is always inhibited :
UTHIET 73 UIFSIHT 92 Wizg-felmal Hdu e 95 uS fox gAY I e & as e
(@) T it yashort & Aoz
(b) Tfegt oo fox fou ume oo g & Wifgwr Fer
(¢) fex yast oimr &3 feg Ifdet 9
(@) & yAst o ofs afdst 9
59. ' The term ‘Biosphere’ was first proposed by
(a) G.E. Hutchinson '(b) G.L. Clarke
(c}) Eduard Suess _ (d) P.S.Welch
Biosphere Hge & ufost o9 ferznms o3
(a) . & Jofears b) . I
(c) vigniTs AR @ it PR T
Paper-1I (Biology) ' 10



60. The underground layers of water-bearing porous rocks are called

(a) Pedosphere | (b) Aquifers

(c) Lithosphere (d) None of these.

(@) WSHEn b) Pt

(© e @ fgREwsr
61, Competitive exclusion principle was givenby

(a) G.F. Gause (b} E.P.Odum

(c) G. Hardin (d) Lotka and Volterra

YEiiae missfaeat fRuts fosr .

(@) v dn (b) =aft.Ssw

() . oafss _ (d) BT NI THST
62. If succession starts on a bare rock, it will be first invaded by

(a) Mosses (b) Lichens

(c) Shrubs (d) Herbaceous plants

Fa9 e §3 Buna F4t 3t A9 3 ufost BaiE T o 9Rar ¢

(@) WA | (b) e

(© s @ -g&

63. Which of the following is not a deep sea adaptation ? _ '
(a) Bullet shaped streamlined body (b) Dorso-ventrally flattened body

(c) Light organs (d) Ventrally placed, big mouth
fogt fod ot afo MiTT e wEgB &' Y

(a) JH 2 FAS T AT (b) He# 2t fils ¢ I&t Fuemad
() yIH A (d) It Afas fers 2T

64. Which of the following is not an example of a typical lotic habitat ?
(a) Stream (b) River
- (¢) _Spring (d) Swamp

35 fafemit 5 fixat ymrans urst fiem fowm &t fefime Gergaz &3t 9

(a) I _ (b) e

(9 sIT d) TS

65. Which of the following do not belong to littoral zone periphyton ?

(a) Pond snail _ (b) Hydra

(c) Rotifers (d) Daphnia

5 fofumtt fod' froar Sewadt 839 & AAIfus & 3 ¢

(a) S war (b) U IE AU

() I3 @ 3edmr

' 66. Which of the foilowing terms is not related to thermal stratification of a lake ?
- (a) Eutrophication "~ (b) Thermocline
(¢) Epilimnion (d) Hypolimnion
(a) Eutrophication (b) Thermocline

(c) Epilimnion (d) Hypolimnion

A 11 Paper-II (Biology)



73.

Which of the following does not take part in the formation of water blooms?

67.
(a) Nostoc (b) Pinnularia (c) Anabaena (d) - Oscillatoria
5 ffemtt fod’ foozr vt 2 S5t @ foaliB aas fm i st 8w ¢ __ |
(a) Nostoc (b) Pinnularia (c) Anabaena (d) Oscillatoria
68. Which of the following does not represent a characteristic of the tundra biome ?
- (a) Permafrost - (b) High species diversity
(c) Chamaephytes (d) Polar climate '
(@) Permafrost " (b) High species diversity
(c) Chamaephytes (d) Polar climate
69. Which of the following does not occur in Oriental region ?
(a) ' Indian porcupine ' (b) Indian elephant
(c) Zebra (d) One-horned rhinoceros
35 fafemit fod* fagar uadt 839 feg adt urfonr Ao
(@) ISt UofaBirdls () ISt o=t
) wE | (@ fea-fiar @3
70. Which of the following does not show social organization? ‘
(a) - Termites (b) Housefly (c) Ants (d) Bees
(@) fAG= (b) udG Wit (c) I (d) Mg Hdht
71. The National Bureau of Fish Genetic Resources (NBFGR) is located in :
(a) Lucknow (b) Bhubneswar (c) Barrackpore (d) Trivandrum
NBFGR Af&3 :
(a) =R ®) FWEE (9 Fews (@) fRE
72. Which of the following is called as ‘Kashmir stag’?
(a) Hangul (b) Pigmyhog (c) Thamin deer (d) Musk deer
95 Tttt feg” am it fogs 3
(@ I () fugnit Jar (0 wiisfuga  (d) oAz fuga
In a food chain the amount of DDT is increased through the process of
(a) Eutrophication (b) Remediation (c) Biomagnification(d) Denitrification
Y3 Bt feg StE1Et < v fam yfafonr o5 surdt At D _
(a) Eutrophication (b) Remediation (c) Biomagnification(d) Denitrification
74. One Homed rhinoceros is associated with _
(a) Kaziranga National Park (b) Jim Corbett National Park
(c) Keoladeo National Park (d) Dudhwa National Park
fea-fid 918 = Adu 3 ' '
(2) SOWIAT AR USH (b) i Fo8e 3EES U
() NEBHE 3w uraw (@ TR 3Ees Ul
Paper-II (Biology) 12 | ' A
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75.

76.

77.

78.

79.

80.

The state mammal of Punjab state is

(a) - Musk deer (b Black Buck
() Hangul (d) Thamin
AT 9 o 91 gEuvt Hie faawr 3

(@) At fimw (b) = g
(©) IS @ uhs

The chief merit of Bentham and Hooker’s system of classification is that

(a) Itis a natural system of classification of all groups of plants

(b) A system based on evolutionary concepts.

(c)- Itis considered to be based on phylogenetic concept.

(d) The descriptions of taxa are baseg on actual examination of specimens.

Bentham and Hooker’s &t @9d1-93 of feimzr feo d fa :

(a) T&T A Ufendt 2 Jfgy & T90-33 &t guast 9T 9
(b) oo fareH feam Uz I maas 9 |

(c) fem 3 phylogenetic fHTiz '3 wirgraz Hifenr ater 3

(d) Taxa T feegz apfont & niFs Ugy I MTE3 I

One of the best methods for understandlng genetic relationshi _Fs of plants is

(a) Cytotaxonomy (b) Experimental Taxonomy

(c) Numerical Taxonomy (d) Chemotaxonomy

Utentt | genetic Agut § ufoores & A 3 i Sfler 3

(a) Cytotaxonomy (b) SHIH »itts Taxonomy

(c) Fitm=3HA Taxonomy . (d) Chemotaxonomy

Carolus Linnaeus is credited with introducing

(a) The concept of inheritance (b) Law of limiting factor

(¢) Theory of heredity (d) Binomial nomenclature

Carolus Linnaeus & yat 3 fa 8o ufgarz ao@er 9

(a) foght 2 oz 5 (b) FI3 Wt § AH3 F9s = s 55
C(¢) uIeE s I (d) Binomial nomenclature 5% '

Systematics deals with o

(a) ldentification of organisms

(b) Classification of organism

() Thekind and diversity of all organisms and the existing relat:onshxps amongst themselves
(d) Identlﬁcatlon, naming and classification of plants

Systematics € A¥U O

(a) organisms O US'E

(b) organisms O TH-<F

(c) Wi & famd n3 nizg

(d) organisms T UfTT'E, EH FTE M WA AT

Which one of the following is the most advanced group of Algae ?

(a) Cyanophyta (b) Rhodophyta
(c) Phaeophyta ' (d) Chlorophyta
Ja fosfimit fed’ faaaT Algae T AZ 3 ¥U STt AT 9
(a) Cyanophyta ' - (b) Rhodophyta
- (¢) Phaeophyta : (d) Chlorophyta _
13 : Paper-11 (Bislogy)




81.

Origin and evolution of sex in algae is seen in : . _ ‘
(a) Blue green algae (b) Green algae {(c) Red algae (d) Brown algae
Algae feg f8a1 & #an 3 feamn, femr famr 3 | |
(a) 3@ TITAlgae (b) T Algae  (c) & Algae (d) T Algae -
Zygotic meiosis is a characteristics feature of
(a) Algae (b) Bryophytes (c) - Pteridophytes (d) Gymnosperms
Zygotic meiosis far IF feRmzr J : : ,
(a) Algae b) Bryophytes (c) Pteridophytes (d) Gymnosperms
83. The only positivé evidence about aquatic ancestry of Bryophytes is
(a) Thread like protonema (b) Green colour
(¢) Some forms are still aquatic. (d) Ciliated sperms
Bryophytes & AH-ferrest a9 % FarosHa A3 3
(8) TG £ Protonema (b) TIda
(c) TS HITI= aquatic T (d) Ciliated aaalz
84. To which group would you assign a plant which produces spores and embryos, but lacks
seeds and vasculature? _
(a) Algae (b) Fungi (c) Pteridophytes (d) Bryophytes
# U spores 3 embryos Ue" &I UT frR T seeds M3 vasculature T wre 32, R §
fardfgufsa duar @
(a) Algae (b) Fungi (c) Pteridophytes (d) Bryophytes
85. If the chromosome number in the leaf of Funaria is 20, what will be the chromosome
" number in the spores ?
(a 20 (b) 40 © 10 (d) 5
A&T Funaria € U3 © J=-H39 W& 20 3, 31 spores & J=-H39 nid & I3
(@ 20 (b) 40 ‘ (c)y 10 d 5
86. The dominant generation in Pteridophytes is
"(a) Haploid (b) Gametophytic (c)  Diploid (d) Triploid
Pteridophytes feg Yy 1 3 S '
(a) Haploid (b} Gametophytic (c¢) Diploid (d) Triploid
87. Megasporophyll is the term used in Gymnosperm to denote
(a) Carpels (b) Stamens (¢) Leaves (d) Female Cone
Gymnosperm f&9 Megasporophyll Fge T9AEE Bt Zafznr Ay J ,
(a) Carpels (b)  Stamens (¢) Leaves (d) Female Cone
88. At which particular stage of development, the endosperms in Gymnosperms is formed ?
(a) At the time of fertilization (b) . Before fertilization
(c) After fertilization (d) Along with the development of embryo
Gymnosperms &9 endosperms faR uzmi 8ug gaer
(a) I UTS IIS AN (b) 93 U9s 96 I Ufast
(¢) T8 UE XI5 3 IV (d) embryo ® feaR T 7H-5%
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89.

91.

92.

93,

94.

95.

Bacteria do not need sunlight to grow because

: (a) They prepare their own food without the help of sunlight.

They are photophobxc
(c) They lack chlorop n(f( 1 to synthesize their food.
d)  They use other kinds of light to manufacture their food.

T feaR ot gan < dRat adt Bt fa@fx
(a) @aﬂaﬁﬁmgﬁwwmwma@aﬁ
(b) B9 NSt & F-urE I9¢ Ts
(©) %W@%%@Eﬁﬁmorophyllﬁwmaﬁ

- (d) €7 3vs szl <t gRdt fam & IEET Yt slee 75

The conjugation in bacteria was discovered by

(a) Arber and Smith (b) Lederberg and Tatum
%c) Jacob and Monad _ "~ (d) Zinder and Lederberg
feg Auns & dfipr 9

{a) Arber and Smith (b) Lederberg and Tatum
(c) Jacob and Monad (d) Zinder and Lederberg
Which one of the amino acid is found only in bacteria and blue green algae ?
(a) Methionine (b) Diamino-pimelic acid
(c) Aspartic acid - (d) Glutamic acid
fg3T Amino Aczdfﬂaeﬁazﬂ-cﬂw n3 T3 Algae feg urfen Al 3
(a) Methionine ' (b) Diamino-pimelic acid
(¢}  Aspartic acid (d) Glutamic acid
In fungi, the reserve food material is usually stored in the form of

" (a) Starch . (b) Lipid
(c}) Glycogen {(d) Protein
g%t S5 et 378 R qu g Agfar Aiwr 9 €9 9
(a) Starch (b) Lipid
(c) Glycogen (d) Protein
The fungi producing usually 8 spores in a sac like structure belong to
(a) Phycomycetes ) Ascomycetes

_ é;ﬂ' Basidiomycetes d) Deuteromytetes
& i 35 %feasacfeaSsporeﬁ?aa'ér% REfa3 9
(a) Phycomycetes &% Ascomycetes 3%
(c) Basidiomycetes 5™ (d) Deuteromytetes 5%
One of the common fungal diseases in man is '
(a) Cholera (b) Plague
(c) Ringworm (d) Typhoid
dfent feg @&t &t 7= 3 Ju niy fanrat 9
(@) o7 b)) W
(c) H&U o (@) eoEefes
Lichens are the major pollutlon indicators of
(@ 8O, ' | (b) NO,
(¢) Mercury ' d Co
Lichens YTHE ® A3 33 F@BE( orel
() urar (d CO
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96.

(a) Lignicolous (b) Terricolous (c) Saxicolous ' (d) Corticolous

Lichens 7 f Xerophytic 2t nigg®s3" &% et fou foem aoe 06,809 § faor Aty 9

(a) Lignicolous {(b) Terricolous (¢) Saxicolous (d) Corticolous
97. The spike like projections seen on the outer surface of enveloped viruses are called

(a) Capsomeres = (b) Peplomeres {c) Proteomeres (d) Viroids

ge faergnit € g799e9 aud mige & foor Aier 9 '

(a) Capsomeres (b) Peplomeres (c) Proteomeres (d) Viroids
98. Which one of the following shows coiled RNA strand and capsomeres ? .

(@) Poliovirus - (b) TMV - (¢) Measlesvirus (d)- Retrovirus

Jo fafem fod' faga @ RNA strand »13 capsomeres four@er 3 |

(a) uUSHI8 fa=g b T™MV (¢) Measlesfaea® (d) Retrovirus
99. When the margins of sepals or petals overlap one another without any partlcular direction,

the condition is termed as

(a) Vexillary (b) Imbricate (¢) Twisted (d) Valvate

H?sepalsﬁrpetals%ﬁarw%ﬁ?a A & fast fan uA femr @ 9« 3% o5 3T AfESt g

fagr 7ter 3 | |

(a) Vexillary (b) Imbricate (c) Twisted (d) = Valvate
100. Which one of the following statements is correct ? '

(a) The seed in grasses is non-endospermic.

(b) Mango is a parthenocarpic fruit.

(c) A proteinaceous aleurone layer is present in maize grain.

(d) A sterile pistil is called a staminode

5 1&fenr 99" fooer s@6 ATt

(a) wrJ fegwr S non-endospermic Jo I

(b) g ¥ parthenocarpic T& J

(c) Wit @ wrfens &3 proteinaceous aleurone A3fI Hye Uéf q

(d) sterile pistil § staminode foor Afer 3
101. Which one of the following anatomical structure will you use to distinguish between the

old piece of dicot stem and a dicot root?

(a) Secondary xylem ) Secondary phloem

(c) Protoxylem (d) Cortical cells '

Dicot stem dicot root %a%ﬁamsaaaaaﬁaﬁffaa%w—feﬁrmwww

q3a

(a) Secondary xylem (b)  Secondary phloem

(c) Protoxylem (d) Cortical cells
102. White rust of crucifers is a 'pseudb-rust because

(@) The disease is not caused by basidiomycetous member.

(b) The colour of the pustule is not red.

(¢) The disease is seen on crucifers.

(d) The disease is not seen on wheat.

Crucifers ¥ A2 rust ¥ @9t rust J f3@fx

(a) 99T TIS basidiomycetous dt- 3 (b) Pustule T I FH &1 G)

(c)  Crucifers §ug Jar eftmr famr 3 (d) o= Bug Jar &t e famr 3
Piper-ll'(Biology) 16 : A
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103. The phenomenon of Heterothallism was first discovered in Mucorales by

ga} Charles Bassey ; Gaumann ‘
¢) Blakeslee - (d) Alexopoulos
Heterothallism ¥ yfanr A8 3° ufost Mucorales feg Gt argt
(a) Charles Bassey enTd" (b) Gaumann e J
(c) Blakeslee g0’ (d) Alexopoulos £TST .
104. Which one of the following meristem helps in increasing the girth of the stem?
a} Lateral mengtfln g; Rﬁercglalary meristem
¢) Primary meristem pical meristem
fosfimr o8 fag3™ Meristem, stem & girth SU@z fou Hew gaer 92
{a; %ateral meris_.tctam ' 8; Ij{ltercitlary meristem
c rimary meristem ' pical meristem
105. Organization of the stem apex into corpus and tunica is determined mainly by
?1; ll;laatncstf _tﬁdl dmlon d; %egori_s _-met?stem;?ﬂ: activity
c e of ce X ate of p
Corpusm%tunica%stanapexﬁmrju%‘a '3 ufgerat 3 anmar
(a Ms-Fd3f0 (b) Meristematic I3 T 83T
(c Aefeamdteg (d) Shoot tip fearH & &9
106. For proper union between stock and scion in the grafting, which one is the first to occur ?
}a; - Formation of callus | ; Production of plasmodesmata ‘
¢) Differentiation of new vascular tissue(d)  Regeneration of cortex and epidermis
Grafting <9 stock ™3 scion T3fimis Hijar &€t faazr g 3° ufast Tuaer ¢
(a) Callus T 335 (b) Plasmodesmata ¥ §3ues
(c). &% vascular feg feu nize (d) Cortex 3 epidermis Tt UST-9539
107. A narrow layer of thin walled cells found between phloem/bark and wood of a dicot is called
{a} gotrikodcamb_lmn 8} 5 as_culs;r cambium
c ndodermis encycle ‘ -« .
Phloem/bark »3 833 T R dicot Tafivns Ut Wz ot usst et & dea § faaraer 3 7
ga; go‘ril(c)dcamlgium fg; 1\)/a:@cultir cambium
¢). Endodermis ericycle -
108, As the tree grows older, which one of the following increases more rapidly in thickness ?
a; gﬁ?ﬁ wood : g{bﬁ (S:ap wood
¢ oem : ortex , :
~fre’ Tauz & BT IaR 3, Jo fehmit T faozr 3 &% usw Jermier
a) Heart wood Sap wood :
{c; Phloem . gi); Cortex |
109. In plant leaves, the phenomenon of opening and closing of stomata is governed by
a) Circadian rh ' ? Geneticclock ~ '
¢) Pressure of gases inside the leaves (d)  Turgor pressure of guard cell

& Ut e stomia & 4oz ni3 e Jx @ Tafolt Fohes gt ik 3 gorer
(a) Circadian thythm (b) frasAt wat
() U nicaSmt It oreg®  (d) JuEa RS ¥ Turgor T8 &8
110. Phytochrome is involved in ‘

ga; Phototropism gb} Photorespiration

¢) Photoperiodism d) Geotropism

Phytochorme A5 3, fo9 _

ga Phototropism {b} Photorespiration
¢) Photoperiodism d) Geotropism
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111. Phosphorus and nitrogen ions generally get depleted in soil because -t‘hey usually'mcm as

112.

(a) Natural ions _
(b) Negatively charged ions
(c) Positively charged ions

(d) _ Both positively and negatively charged ions but in disproportionate mixture
arfecars

THSIH M3

fod o wfes de a5 |
(a) IS 0B T
(b) BAIIHA TI MLS A6
(c) FAITIHI TTIH LIS & 96
@

X nies niH 39 3 H1E feo am At o5 fa@fa i 39 '3 89 U5

Which one of the following is an essential mineral which is not a constituent of any

enzyme but stimulates the activity of many enzymes ?

(a) Zinc (b) Manganese

(c)  Potassium _ @ Magnesium i

I fafmit fed’ forost agdt fises 3 A faR < eamane o a5 &dt I W3 993 A
~ enzymes € JEtfedt § M FTE I 7 |

(a) Zinc ' ' (b) Manganese

(¢) Potassium (d) Magnesium

113.

114.

115.

- (©)
116.

In C-4 plants, the Calvin cycle operates in:

(a) Stroma of bundle sheath chloroplast (b)
(c) _Grana of mesophyll chloroplast (d)
C-4 Tfonft 19 calvin 99 HIfa3 Jor 9
(a) Stroma of bundle sheath chloroplast (b)

(c) Grana of mesophyll chloroplast  (d)
The greatest producers of organic matter are
(a) Crop plants (b)
(c) Plants of land area ()
A8 ¥ T09 Afex ueqg © €3uea 76
(a) TRSiE TR (b)
() FefemaT R (d)

Grana of bundle sheath chloroplast
Stroma of mesophyll chloroplast

Grana of bundle sheath chlofoplast :
Stroma of mesophyll chloroplast

Forests . "
Phytoplankton of oceans

[al

Hdl&%
m{ed © Phytoplankton

A bottle filled with previously moistened mustard seeds and water was screw capped
tightly and kept in a corner. It blew up suddenly after about four hours. The phenomenon

involved is known as
(a) Diffusion

(c) Osmosis (dy

Imbibition
Diffusion Pressure Deficit

et 53 Frg ufast F o a3 ot @ S wi udt 59 3 GG SR g o ST R i
i 3o fem Fu R famr | 99 Wi wmie o0 83 e ot 1 fem yfpor & foor wier 9

Diffusion
QOsmosis

(a) )
(d)

Imbibition ,
Diffusion Pressure Deficit

Movement of root towards soil |

Which of the following movement is not related to auxin level ?
(a) Bending of shoot towards light  (b)
(c) Npyctinastic leaf movements (d)

Movement of sunflower head tracking the sun

5 fofmit e ot yfafant auxin Uud &8 AR 53t 3 7

() =0 T IS B ST
(¢) U3 < vcfeBrefo ylqnr

()
@
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117.

118.

Phototropic and Geotropic movements are linked to

{a; Gibberellins (b; Enzymes
¢) Auxins ' i (d) Cytokinins

Phtottorpic M3 Geotropic IJ&3 HEUS J

a) Gibberellins : Enzymes
gc} Auxins fgg - Cytokinins
The first carbon dioxide acceptor in C4 plant is
a) Phospho enol pyruvate A Ribulose 1, 5 — diphosphate
c oacetic aci : Phosphoglyceric acid
C-4 i‘rol’e:?f'l feg z.Jﬁzzt.rd srﬁ_-»nawé}g o 9 ;
: A YSTS d93
a) Phospho enol pyruvate Ribulose 1, 5 - di hate
fc; Oxaloacetic acid 8} i

119.

120.

121.

122.

123.

Phosphoglyceric acid

The most widely accepted theory of Ascent of Sap in trees is

a) Capillary action
Role of atmospheric pressure
c) Pulsating action of living cells
Transpiration pull and cohesion theory of Dixon and Jolly

Sap & ¥33 & A8 3 <0

(a) Capillary action

(b) FTIEIs T TIE E FHE

(c) fABR A O Tus<l Jda3

(d) Dixon M3 Jolly € transpiration T8< n3 feas fiuts

The hormone responsible for apical dominance in plants is

a) JAA , _

C; ABA ' d) Florigen

89 I9Hs 1 Ufentt fo apical RSt &S gHE9 J 7
ga) IAA ' 2b) GA

c) ABA d) Florigen |
The photosynthetic pigments found in chloroplasts occur in
ia} Thylakoid membrane fb} Plastoglobules

¢) Matrix d) Chioroplast envelope
Chloroplasts fe8 U® 7= @& photosynthetic pigments wfe3 Je I5
(@) Thylakoid membranefsg . = (b) Plastoglobules feg
(¢) Matrix fe8 - (d) Chloroplast envelope =g

The dark reactions of photosynthesis occur in

Stromal lamella membrane .
Stroma outside the photosynthetic lamellae

(a) Granular thylakoid membrane
c
d

) Periplastidial space .
Photosynthesis € 373 YSiaoH wfes ge 95
a) Granular thylakoid membrane
Stromal lamella membrane
c) Stroma outside the photosynthetic lamellae
d) Periplastidial space

Which one of the following technique has helped in the investigation of Calvin cycle ?

() Radieacive worgpeivmique (&) _ ntormyientlight
t fog* fqaz™ 3Jar Calvin Cycle € Uy I35 f9 Hegars d ?
(a) MSA-T crystallography (b) nIR-T TS
(c) Radioactive isotope IAAI (d) Intermittent SHAY
: 19
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124.

125.

126.

During monsoon, the rice crop of Eastern states of India shows lesser yield due to lumtmg

factor of
(a) Carbon dioxide (b) Light
() Temperature (d) Water

HoRe €9% 3793 © wﬂwﬁasﬁémmwﬁﬁﬁhﬁ@m%m
foF R ¥ &t wre D

() T9ES SERAES ®) IHst
() SUHS @ uat
Ferredoxin is a constituent of
(a) PS-1 : (b) PS-2
(c) Hill reaction (d) P-680
Ferredoxin faR o 3165 3
(a PS-1 ' (b) PS-2
(© uTtydtfmr - (d) P-680
In terrestrial habitats, temperature and rain fall conditions are influenced by
(a) Water transformations gb) T iration
{(c) Thermoperiodism d) Trans ocatlon

127.

128.

129.

130.

TRfan fog T9RE »i3 IUHE © T%'3 YFfes JR 05
(a) 7% TEoe IS - (b) FIH
(c) Thermoperiodism @ €9 3urs oo Ao
Bananas can be prevented from over-ripening by '
(a) Maintaining them at room temperature

(b) Refrigeration
(c) Dipping in ascorbic acid solution

%gmﬁsmgﬁ%at g t%w AT J :

() DR T I I RE F (b) 33 feu Az &8
(c) Ascorbic WF5 feu g8z &% (@ €9 3us fog Juz 5

The enzyme that catalyses carbon dioxide fixation in C4 plants is
(a) RuBP carboxylase (b) PEP carboxylase
(¢) Carbonic anhydrase (d) Carboxy dismutase
- C-4 Ufontt fou a9as s¥waREts & 733 Tu8s T EARHE J
(a) RuBP carboxylase (b) PEP carboxylase
(c¢) Carbonic anhydrase (d) Carboxy dismutase
Which one of the following is produced during water stress that brings stomatal closure?
(a) Ethylene (b Abscissic acid
(¢) Ferulic acid Coumarin
mmmﬁsﬁﬁmﬁﬁ?hﬁﬁ?w%ﬂmmm@?%
(a) Ethylene gb Abscissic acid
(c) Ferulic acid d) Coumarin
Which one of the following is a C4 plants ?
(a) Papaya (b). Pea
(c) Potato (d) Maize/Corn
I foftmt fiod faazr c4 oy
(@) Witz b) HE
() g | @) Meft

Paper-11 (Biology) : 20 A




131.

132.

133.

134.

135.

136.

137.

Maximum solar. energy is trapped by

gag Planting trees ; Cultivating crops
¢) Growing algae in tanks (d) Growing grasses
AZ 3 U Fﬁv_-%’ 83r AswI Aidt I, onirar

(a) Ue Az as ' (b) TAS IiTE 5

(¢ 3o feg et e a9s % (d) w38z 7®
If a tree flowers thrice in a year (Oct., Jan. and July) in Northern Indla, it is said to be

&ag Photo and thermo-insensitive

Photo and thermo-sensitive
(¢) Photosensitive but thermo-insensitive
d) _ Thermo-sensitive but photo-insensitive

793 feu et Haa A feu 5 o9 (niegaa, Aaedt mi3 gweh) feg &% dr oo
%BTFEH§WW%
(a) IEBH W3 oM Y3t niREEHS
(b) TSt n3 at Y fievsHs
(c) InSt Y FiresHi® udg Tt yFt mideests
@) Tt ySt Arverts ud3 I yIt niitesHs

Which element is located at the center of orphl)(/[rm ring in chlorophyli ? -
%a; Calcium : ﬁ); agnesium
c) Potassium d) Manganese
Chlorophyll feg faazr ueem porphyrm ring © &'T9 few ufenr Al 9
(a; Calgium Eb} Magnesium
(c) Potassium d) Manganese
Which one of the following is wrong in relation to photo-respiration ?
(a) It occurs in chloroplast. fb It occur in day time onl
(¢) _ Itis a characteristic of C4 plants. }?Er Itis Characterlstncs of 33 plants.
IRSt It A ST ¥ Ady feg Is fefiout

(a) f&9 chloroplast R ufes Jord  (b) ﬁﬂﬁﬁaﬁﬁﬂﬂ'wﬁﬁ?al

(¢) fegcCcadfont T S8gx I (@ feocsiferie sz
Photosynthetic Active Radiation (PAR) has the following range of wavelengths
%a; 340 - 450 nm _ 400 — 700 nm
c) 500-600nm d) 450 -900 nm
Photosynthetic G&3 {33’ (PAR) € I3 wavelengths T€1 3
(a; 340 - 450 nm ' Eb; 400 - 700 nm
(¢) 500-600nm . d) 450-900 nm
Which one of the following will produce andro%emc haploids in anther culture ?
§a} Anther wall B ; apetal layer of anther wall
¢} Connective issue d) Young pollengrains
5 fafmit fe5° fga3T anther culture &9 androgenic haploids Jer &dar ¢
ga) Anther wall (b; Tapetal layey of anther wall
{c) Connective issue (d) #<& UIH
A populatlon of genetically identical md1v1dua1s obtained from asexual reproductlon is. calied
(a) Callus (b) Clone _
(¢) Deme N (d) ggregate
mw—@mﬁq%aﬂmméfﬁamma%@w% ?
(a) Callus : (b) Clone
(¢) Deme (d) Aggregate
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138.

139.

140.

141

142,

143.

In an Angiosperm flower, how many microspore mother cells are required to produce 100

ay 73 fb; 100 e

c; 25 d 50 - - _

4 angiosperm &% 29100 UTST. 8T USr 5% B8 18 microspore mother cells FAT TS ?
@ 75 g 100 T
© 25 ‘ @ 50 .

In a type of apomixis known as adventive embryony, the embryo develops directly from
(a) Nucellus or integuments -

gb) Zygote ]
? Synergids or antipodals in an embryo sac
%’e)a Accessory embryo sacs in the ovule _ o .

IS apomixis igﬂ & adventive embryony =+ Frfenr #er J 5 i 39 3 embryo fan
enfrar Der Jer 9 ,

(a) Nucellus or integuments

(b) Zygote '

(c) Synergids A" antipodals f<g €& embryo sac
(d) - Ovule <9 accessory embryo sacs

Two plants can be conclusively said to belong to the same species if they
a% Have more than 90 % similar genes
Look similar and possess identical secondary metabolites

s {c) Have the same number of chromosomes

d)__ Can reproduce freely with each other and form seeds

g U2 yHY 39 ‘3 f¥a & A3t o% AU &9 7 AdE U6 HoW ¢

(a) WIF90% I Ju T Fird genes I

(b) 53 Y wwa miz T® Uy ¥ifew ugs fafanT @3

(c) 8 3 chromosomes 7=

(@ T gm @ e gu fes 83ues XT How I8 3 HiF 87 AAT I5 |

The first successful transformation of IDNA molecule into a bacterium was carried out by
%a) ‘Nathan, Arber and Smith : ; Watson, Crick and Wilkins

c) Boyer and Cohen d) Paul Berg e
DNA 3 f&a Bedidhor fog 3uEt® oos © Ag 3 ufos 3Aewr ford #i3T?

ga; Nathan, Arber and Smith Watson, Crick and Wilkins -
c) Boyer and Cohen d) PaulBerg = .7
The mechanism of intake of DNA fragments from the surrounding medium by a cell is called
a; Transformation only ; Transduction only '
¢) Both(a) & (b) . d) Conjugation . )
ft % 2" DNA 2afantt § nid-gni® ¥ Mt 1t THe 95 o 30 & faar e 9
(a) I‘ransfonnation only (b) Transduction only
() T (@3 (OD) (d) Conjugation

The most important discovery that led to the development of DNA technology was
8) Double helix model of Watson and Crick
) Discovery of restriction enzymes

c) Discovery of ligase enzymes
gd) Discovery of l%aismid

DNA I581a &7 13t et /g 3 209 Hoseyds oW :
(a) Watson and Crick &' gaic’ JEBIE HETH
(b) restriction enzymes ¥ ¥

(c) ligase enzymes ¥} v

. (d) plasmid <t &9
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146.

147.

148.

Golden rice is a-transgenic crop of the future with the following improved tralt

- (a) Insect resistance (b) High protein content
(c) ngh vitamin A content (d) High lysine content
nwh%aag&'brétféauansgemcm% A J5 fon feafizs trait oz 9
(a) dfamr 3 Hefouz ) =03 Y3t a3
(©) =S feeis ¢ w3 (d) <=UJ lysine G&3
In order to obtain virus free plants through tissue culture technigue, the best method is
(a) Meristem culture . (b) Protoplast culture
(c) Anther culture (d) Embryo culture
feg amag orgr ifanit 3* yar3 U IAS 96 o A8 3 < ST D
(a) Meristem culture ' (b) Protoplast culture
(c) Anther culture (d) Embryo culture
Which one of the following bacterium is considered as “Nature’s Genetlc Engineer” ?
(a) Agrobactrium tumefaciens (b) Agrobactrium radiobacter
(c) Pseudomonas putida : (d) Thermus aquat:cus
3o fefmit {9 faost quast frart fEine Jadherg ¥ifoer e 3
(a) Agrobactrium tumefaciens (b) Agrobactrium radiobacter
(c) Pseudomonas putida (d) ' Thermus aquaticus
The technique of DNA fingerprinting was perfected by
(a) Stahl (b) Beadle and Tatum
(c) Franklin . (d) Alec Jeffreys
DNA & Higa ufges o 96 & sadta § faor AT 9 :
(a) Stahl (b) Beadle and Tatum
(¢) Franklin (d) Alec Jeffreys
Which one of the following hormone pair is required for a callus to differentiate ?
(a) Auxin and Cytokinin (b) Auxin and Ethylene
(c) Auxin and Abscissic acid (d) Cytokinin ang Gibberellin
5 fafemit fed® {3 harmone #37 callus W3-8 &t 8t 3
(a) Auxin»3 Cytokinin (b) Auxin m3 Ethylene
(6) Auxin "3 Abscissic acid (d) -~ Cytokinin m3 Gibberellin

149,

150.

Any DNA molecule that has the ability to replicate in an appropriate host cell, to which the
desired genes are integrated for cloning, is called

(a) Plastid (b) Linker

(c) Vector (d) Phagemld

SET DNA molecule friF =9 host cell & e & Iz I3, fT-lFl 9 cloning = 39 genes

A3 98 5, § faor wiwr 9

(a) Plastid o (b) Lmker

(c) Vector B (d) Phagemid

The most popular and widely used engineered plasmid vector is

(a) pBR 322 (b) pUC vector

(c) psSCilol (d puUCI19
_maéumaan@fen%mﬁam@zwaz@mafewvwm%
(a) pBR 322 (b) pUC vector

(c) psSC 101 @ puc19
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